= AH O
N = 0 &8 AF S & Al A
20108 =20llat Let3|H SAISKID ~ SAISKID
A SA=X
HY: CASFANL(ZELTENL /X ALT A
ool SXBAEY (e & &
= T o = = 1 I|_-|LI;=|_||:_ =
2N -3 - c2(3H) - NEME - HES 0] Ao Ofl At ot HunsZ
=PNE-DNIN! 11,886,452 10,466,395 1,420,057
= 1,715,560
2 550,000
[ 790,897
= 5,796
Al 8,824,199
CASSAML(2EL X ANL/RSUZA) 5,825,334 4,901,541 923,793
= 250,000
[= 175,000
Al 5,400,334
=XB2AXS 5,017,774 4,093,981 923,793
= 250,000
[= 175,000
Al 4,592,774
CAl=EXS 1,180, 153 548,737 631,416
101 Q1A H] 53,565 8,436 45,129
04 JIZtHZ2REE S 53,565 8,436 45,129
OAIIX STA&ES SK=el 8,548
—ol9l 51,3802 «3% 10 53] 7,707
“AHEE J|22e2 7,707,0002 %10.9% 841
OEA =3 ALY 39,887
-olal 51,3802 x 143 x50 35,966
A2 E a2 35,966,000 «10. 9% 3,921
OE2Ei4==22 IAHHOIH2 22l 5,130
-pls0l 51,3802 x3H 52«63 4,625
“AHEE J|2ee= 4,625,0002 10.9% 505
201 LEt2HH| 40,000 0 40,000
01 AL 22l 40,000 0 40,000
O6.¢4xt2 40,000
~TA=FIARY YR 500,000 *2CH #40 40,000
206 XH 24l 221,800 1,000 220,800
01 24l 221,800 1,000 220,800
O=XA&28 SR2el M2 9,000
g fonge 10,0002 x5&E *10& *23] 1,000
“AIJHR nEAd & ML 7
20,0002 x 1002 2,000
~uEsE TEa5 2 g 0 HEFY
10,0002 #3003 3,000
-=C AlHI2 HE237¢Y 10,0002 *150+23] 3,000
OZ222AY THSHI (&0 & 23)
5,000 »2,000m 10,000
OXHHIOIHE AMES SR2H2sS 2YdAH 2
el 180,000 x10E 1,800




M SAISXIL
M CASSAMS (REXXANL /XS

He
H
=

el mABAEY (=CRL]
SN HB SR (BIH) - A - B S 0l &b S D=2
- e ° T EEREES = 04”:"% ree
OXSH Ot el 2el X
10,000& *10=+10H 1,000
OEA=EAE e+ 200,000,000& 200,000
401 A &HIYL 2048 864,788 539,001 325,787
01 Al 860,000 535,000 325,000
OYZAS Ho=sA (AN L SEX)
200,000,000 * 14! 200,000
OEH s=EXHAE 300,000, 000& » 14 300,000
O & 2IIAE (POOL) 120,000, 000& » 14 120,000
OsdsX=g¢ =HIA =& 30,000,000& *14! 30,000
O=% 24c Otz 233 =4
40,000,000& *14! 40,000
Oo¢g delgd =X ol
40,000, 0003 * 14! 40,000
OEANMsEZE SZUR HZ ALY
50,000,000& =14 50,000
OAIJHN nEd =2A ALY
20,000,000& *27 2 40,000
O=3s Jt2s=s2d =4 40,000,000 * 14! 40,000
03 Al =il 4,788 4,001 787
OSAN=ZEAMS ALY
760,000,000 *0.63/100 4,788
SAN=TH(Bx) 500,000 201,440 298,560
= 250,000
L= 75,000
Al 175,000
401 A &HI L2048 500,000 201,440 298,560
= 250,000
= 75,000
Al 175,000
01 Al&H| 496,542 200,000 296,542
O A% ZaAY MAIEH
480,261,000& *3.39/100 16,281
OS A= ZHAY 480,261
-QEUYWA TAE =4 130,000, 000& * 14 130,000
= 65,000
= 19,500
Al 45,500
“YA2dH SAlE &4 80,000,000& *14! 80,000
= 40,000
L= 12,000
Al 28,000
-HERU TAl= =4 150,000, 000& * 14 150,000
& 75,000
& 22,500
Al 52,500




M SAl=X2t
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thel: sX324EH (&9 HM
_ ) _ pofEN
SAN-ZH-SA(FA) - NFAY - BES O AF K ‘Oﬂ/i\_Fo” Hlw &2
2 EEYH TA=E =4
120,261,000 14! 120,261
= 70,000
& 21,000
Al 29,261
03 AIER0ibl 3,458 1,440 2,018
OZAE ZHAY A2
480,261,000& *0.72/100 3,458
2= &MY 100,675 131,224 230,549
401 Al&HI LS04I 100,675 131,224 230,549
01 Al&H| 100,000 130,000 A 30,000
OZ=Ssris| 2~ol 30| S0HE Y2 Itz
AL TH 500,000& 202 10,000
OOJ|LelOFAICH Jt24 =BUA(AIJIX ¥ =
SX) 500,000 * 1502 75,000
O3% HEOUAOHIIE X2 Ji2s AN
300, 000& x50 15,000
03 AIE=20HI 675 1,224 AbB49
OJI24 ZSAY AlE=20iH
75,000,000 *0.90/100 675
=StAtE XI& 44,420 58,520 214,100
201 LBt 3| 2,100 4,200 22,100
01 AtR2telH 2,100 4,200 22,100
03.2g8+% 2,100
“EEA EA=SRRE BAHsE
70,0003 10 *33l 2,100
202 O4Hl 4,320 4,320 0
01 =0yl 4,320 4,320 0
=3tAtg =& ol 60,000 x3H +3 *83] 4,320
206 M=l 8,000 20,000 A 12,000
01 M=H| 8,000 20,000 A 12,000
OS8s A72NAEF2E =3AME B2
8,000, 000& 8,000
403 X SHMSAH=201H 30,000 30,000 0
02 S| 2SOCHSHCHH A I 30,000 30,000 0
OB A= =StAHY 10,000,000& *14! 10,000
OdiZHe6HEt=H =3tAtZ 10,000,000 14! 10,000
Odig=sd=8 =3tAtd 10,000,000 14! 10,000
HEZSRX 233 2,834,167 2,147,760 686,407
401 A EHIL 201 2,834,167 2,147,760 686,407
01 Al&H] 2,824,000 2,142,000 682,000
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Chel: SX22EN (&te: @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
OHEZLRX SAE =4
2,824,000,0002 x4l 2,824,000
03 Al&=2CHHI 10, 167 5,760 4,407
OHEEZRXN TA=E =4 ANERUY
2,824,000,0002 «0.36/100 10,167
COME (R 358,359 0 358,359
[~ 100,000
Al 258,359
101 Q144 38,463 0 38,463
04 JIZH22RNEES 38,463 0 38,463
OZ2ZXEAX 22l 982 51,3802 15«45 34,682
O4HEE J=2g= 34,682,000 *10. 9% 3,781
206 XH24l 65,000 0 65,000
01 24l 65,000 0 65,000
OSAME XgE 25 22 150, 000 *200 K 30,000
OFIE LU =T 26 AR 2o
3502 %100,000= 35,000
401 Al&HIZL LY 254,896 0 254,896
[= 100,000
Al 154,896
01 Al&H] 254,896 0 254,896
OZ AN 234,896
—ZE AX(ZBE2SE, HEAHL, B AR2E;
2l) 124,896
EESUNESD: ] 120,000, 0002 4 .08/ 100 4,89
*AlEH 40,000,000 *3JH A 120,000
[= 60,000
Al 60,000
-22 SX(DSZ2I10,40HCt2])
20,000, 000 «2JH A 40,000
[= 20,000
Al 20,000
-E2E AX(EHel, AN, 2ZE, X
IC) 10,000, 000 *4JH A 40,000
[ 20,000
Al 20,000
~2ER Y F=RE2H ZBQAIY
30,000,000 14! 30,000
OZ&7 3HE FHIAFY 20,000,000 %190 A 20,000
ZAXH 807,560 807,560 0
MM 222X 503,600 503,600 0
401 Al&H| L LY 503,600 503,600 0
01 Al&H] 500,000 500,000 0
OduMr2eZ XA 500,000, 0002 x4l 500,000
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03 AIZ R0l 3,600 3,600 0
OHgHx2e S 4 AE=RU
500,000,000% *0.72/100 3,600
SozdA(e=sRS) &4 302,160 302,160 0
401 Al&HI YR OHYI 302,160 302, 160 0
01 Al&H| 300,000 300,000 0
OtsS(Mes=2F) ZE(EXNE4 19,324
m*) 300,000,000 * 14! 300,000
03 AIZ20i4l 2,160 2,160 0
Otz (Me=25) =4 AIER0
300,000,000% *0.72/100 2,160
sS4 A& 1,800 1,800 0
202 O4Hl 1,800 1,800 0
01 =Yl 1,800 1,800 0
SENY HRFHAHYI
60,0003 x2H 3L +53] 1,800
A HMAIY (SO YA/ - AE) 5,798,337 5,336,765 461,572
= 1,715,560
& 300,000
& 615,897
= 5,796
Al 3,161,084
SME oS E N 2t 4,351,384 1,732,191 2,619,193
= 1,648,841
= 505,881
&2 5,796
Al 2,190,866
AtE 2t 94,059 75,844 18,215
101 el 24| 60,059 50,924 9,135
04 JIZHMIZ2XEE =+ 60,059 50,924 9,135
OANSRY0oF 22elfY 51,380 x1H*100 5,138
O4U2E JI2RE3 5,138,000& %10.9% 561
OMEZAl & S&tz S#HATH(ogXtel &
E) 54,360
- 200,000& «36H +7& 50,400
-28 & R0 110,000& »36¥H 3,960
201 LetHH| 5,000 3,000 2,000
03 A2 EHI 5,000 3,000 2,000
OURaJl #A 5,000, 000& 5,000
206 M=l 22,000 10,000 12,000
01 M=l 22,000 10,000 12,000
OURYIIEAN B2 2
2,500 *1,0008 x4 *2&= 20,000
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X XH .
S Tt

el

Al'= Xl 2t
MM (S
goasX

}\_I X~ xH cCte j;”) }\.“bl}\l,o-l A2 AFOH I|_‘|LI;=|_|‘:_ HleDF
OL= 4 A+ 2 2,000,000& 2,000
301 LprEat 7,000 11,920 AN4,920
10 AtAHI 7,000 11,920 24,920
oL IR 241 7,000&*1,000& 7,000
&HXI0l S22 2,160 2,160 0
202 (4 H| 2,160 2,160 0
01 =W 2,160 2,160 0
OAg & AENs FAN|
60,0003 *3H «3 x4 3] 2,160
I RIIAIE (B 79,279 0 79,279
= 48,286
& 9,298
Al 21,695
101 Q14| 77,479 0 77,479
= 46,486
= 9,298
Al 21,695
04 J12+MIZ 2 77,479 0 77,479
Os34t Jl ey 60,173,000& 60,173
= 40,039
& 8,008
Al 12,126
O4UEE 2= 60,173,000 *10.9% 6,559
O334te Jl 2i&hl 10,747,000& 10,747
= 6,447
= 1,290
Al 3,010
301 et 4 1,800 0 1,800
= 1,800
10 S ALAHI 1,800 0 1,800
O534t Jl nsE#dl 360,000& x5H 1,800
= 1,800
BAS(BX) 60,950 0 60,950
= 29,300
= 9,017
Al 22,633
402 QI2H X201 A 60,950 0 60,950
= 29,300
& 9,017
Al 22,633
02 CI2+CHEH 60,950 0 60,950
(OFESES 12,190, 000& *5ha 60,950
= 29,300
& 9,017
Al 22,633

»




A SAI=X
I AN (SEHS AL /YL - ME)
el NEoEENEL (e @
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
Ar=0es & AR THOH 48,318 45,498 2,820
201 Br24| 42,758 39,438 3,320
01 A2 22lH 29,820 24,720 5,100
O1.¢et=2H| 7,000
—AMESEUH FoXE FOI 2,000, 000& 2,000
-2&IIGF & MEI =2
20,000& *50CH 1,000
-AUSEMEEY, Mol sE S22 M
1,000,000& 1,000
(EWE =222 ME 50,000& 604 3,000
O4. 1| £H| 11,400
-MEXA DI 5,000& =804 400
-AME2RG=E 110,000& =100 11,000
O5.2 &H| 10,220
NMEEUH2E AL 22X =4
7,000 10" 130 9,100
-AE TG BIAZ2ERX 24
7,000& x8H 20 1,120
O6. Y Xt & 1,200
-AMESEG BB e 28R AR
600, 000& 23| 1,200
02 ss8g9H| 12,938 14,718 A 1,780
O1.2Z22=22HA 2,460
NMEXNFXNEE SUE AMEZ
100,000& *1CH*12& 1,200
-AUHEEHE L A2 630,000& *2CH 1,260
O3. Al & HIF XYl 1,220
-NME2AFES 2| =2 30, 000& *30CH 900
-xEE 20|28 = 22 80,000& *4LH 320
O4. XH&k & ek 9,258
-SE2(2¥) 4,095,000 = 1CH 4,095
e NI €= EePN Ly} 5,163,000 = 1CH 5,163
202 4 I 2,160 2,160 0
01 2| 2,160 2,160 0
OutelTHall (At2 S) Es0H|
60,000 *3CH x4 *33| 2,160
206 M &Hl 2,400 2,400 0
01 MHZHl 2,400 2,400 0
OKNZ2XNGE A dtdiel 2
60,000 404 2,400
301 YerBAZ 1,000 1,500 A500
12 JIEtE A2 1,000 1,500 A500
O HH T 21 ZAZ 500,000 *2AH 1,000

_7_




Iz z
0¥ U >

| = Xl 1t
IZHMNY (sl - ME)
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drZ el 157,200 156,550 650
401 AIEHIZ 2] 157,200 156,550 650
01 Al&HI 156,120 155,110 1,010
OADJIXI &8 s&2 =4 156, 120
—& A& I 150,000,000 *4.08/100 6,120
-Al & 150,000, 0003 * 14 150,000
03 Al =20HY| 1,080 1,440 A 360
OsSt2x4d A&l
150,000, 0002 *0.72/100 1,080
A 7~ =0 off O &t 11,862 9,782 2,080
201 Let243| 7,410 7,430 A20
01 AtE222|Hl 2,910 4,430 A 1,520
O1.det=ZH| 1,600
Ol sS2Es ¢ oo 222 M
1,600,000& 1,600
O3.28=¢ 210
-S&AZ0o SEA4AMRRAS EAsY
70,0003 x3H x13] 210
O4. 1l =H| 1,100
SSED| OFMES LRSS 22N Y=
110,000& =10 1,100
02 3234l 4,500 3,000 1,500
O1.3323LAA 4,500
OS2I oLt =828 It
150, 000& *30H 4,500
202 O4H| 1,080 1,080 0
01 =LA b 1,080 1,080 0
OO0t =Tl 24 HREFE0MYI
60,0003 x2H 32 x33| 1,080
301 LEtEAZ 3,372 1,272 2,100
10 HALAHIZEA S 2,100 0 2,100
ORHZEs ZH22X 24
7,000& x108+32 103l 2,100
12 JIEt2 432 1,272 1,272 0
O0td== O XNE AU N
,590& x200 £ *4CH 1,272
Sa2el 47,200 71,400 A24,200
206 M=l 2,200 500 1,700
01 M=H| 2,200 500 1,700
25+ J2H 2 50,0003 204 1,000
OLHs & ¢ 40,0003 3074 1,200
401 AIEHIZ 2O 45,000 70,900 A25,900
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96,815 23,200 73,615
38,726
17,427
40,662

=z HnH

101 1A H] 30,315 0 30,315
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= 1,800
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= 2,400
= 1,080
Al 2,520
405 THAHE S 45,000 14,000 31,000
= 18,000
= 8,100
Al 18,900
01 RAUSEZH S| 45,000 14,000 31,000
O 45,000,000 *1CH 45,000
= 18,000
= 8,100
Al 18,900
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= 19,253
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01 Al&H] 90,902 83,766 2,136
OB MHIASAZHY] 90,902
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= 27,504
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Al 39,725
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= 9,540
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OOMSSANE olpY 15, 148,0002 15,148
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4,860
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13,163
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1,944
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N 11,264,000 * 100 & 11,264
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81,200
722,800
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201 =&l 800,000 800,000 0
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=
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=
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Al 2,800
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= 4,160
Al 9,706
101 14| 13,866 13,866 0
= 4,160
Al 9,706
04 JIZtMZ22XSE+ 13,866 13,866 0
ONMESHEH 22 12,503,000 *1H 12,503
& 4,160
Al 8,343
O4AEE &Y 12,503,000 *10.9% 1,363
MEMUIAZLRO(EX) 84,436 81,774 2,662
= 50,659
& 10,132
Al 23,645
101 Q14| 42,219 40,590 1,629
= 25,329
= 5,066
Al 11,824
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OZA=X 22& 14,073
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1,400
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